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Q. Supposing that Hydro and NP were an integrated utility, would Hydro have 1 

employed a different strategy over the past decade to pass through a 2 

demand price signal to NP customers? If so, how would Hydro’s strategy be 3 

different? If not, why not? (Reference Section 2, page 3) 4 

  5 

 6 

A. Due to the absence of either the experience of the hypothetical utility or data 7 

to support an alternative, no different strategy can be surmised.  Moreover, 8 

the requested information is not relevant and is not necessary to understand 9 

the matters to be considered in this proceeding concerning Hydro’s 10 

application. 11 


